Progression in Division

Year | Sharing using a range of objects.
1
Concrete Pictorial Abstract
Sharing using a range of objects. | Represent the sharing, 6+2=3
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Year | Use arruys to group and count groups.
2 Concrete Pictorial Abstract
Use counters and other ohjects | Draw arrays and thencircle (12 + 4 =3
to create arrays and then count | the number gf groups. Count on in 4s in head and
the groups. 12 + 4 = 12+:4= using fingers.
Year | Counting up
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Year | Chunking
4 Concrete Pictorial Abstruct
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Year | Bus stop method — with and withput remainders.
4 -5 | Concrete Pictorial Abstract
Use place value counters or base | Draw the concrete apparatus.
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Progression in Division

Year

Pictorial

Abstract

{Using the part whole modet betow, how
can you divide 615 by 5 without using
short division?

o

Conceptual variation; different ways to ask

1 have £615 and share it equally
between 5 bank accourits. How rmuch
will be in each account?

615 pupils need to be putinto 5
groups. How many will be in each

group?
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children to solve 615 + 5 |

What Is the calculation?

ailles -y o o

= - J'.é—h—_.r._;l.‘}i'




